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Define the matrices Aand AasA=| 1 -2 Ol and A={0 b 0], respectively.
0 0 -4 0 0 c

(a)If A is the diagonal matrix of A, find the value of a, b, and ¢ fora<b<c.

(b)Find a matrix X such A =X"'AX.
(c)Find a matrix B such that B3 = A. [104 SR RY3E EHYEE H 4]

—3-% 0 0
[f2]|A-AM|=0=| 1 =2-42 0 |[=0=>-(A+d)A+3)A+2)=0=>Ar=-4,-3-2
0 0 —4-x
Ha=—4,b=-3,c=-2
10 0 0
A=-4, (A-ADx=0=|1 2 0|lx=0=x,=[0
0 0 0 1
00 0 -1
A=-3,(A-ADx=0=|1 1 O0|x=0=>x,=| 1
0 0 1 0
(—1 0 0 0
A=-2,(A-ADx=0=| 1 0 0|x=0=x,=|1
0 0 2 o]
—4 0 0 0 -1 0 00 1
BA=[ 0 -3 0 ,x{ 1 1|=>X'=[-1 0 0
0 0 -2 1 0 0 110
0 -1 0]|3-4 o0 0 [0 o0 1
B=¥A=x¥AX"'=[0 1 1| 0 ¥-3 0o |[-1 0
1 0 ol o 0 ¥Y=2f 110
0o -iY-3 00 1 -3 0 0
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